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~The length of the spread to find using Pythagorean theorem~

ﬁ?%@g ~ Mathematical Contents~
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AC =1(F)D&EE x=0.0499 (1)
AC =2 x=0.198

ALC =3 x=0.4408 o
AC =4 x=.7703

AC =5 x=1.1803

A =6 x=1.162

AC =7 X =.2065

AC =8 x=2.8062

AC =9 x=.4536
A,,C=10 x=.1421
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REEER ~English Translation~
In a figure, A is the point that each 15*7 of AC was increased and D is OA
and a point of intersection with circle O.
The length of AD when OC is 102 starts to be the bottom.

When A,C =1,A,D, =0.0499 A,C=2,A,D,=0.198
A,C=3,A,D,=0.4408 A, C=4,A,D,=0.7703
AC=5,A,D,=1.1803 A, C=6,A,D,=1.662
A.C=17,A,D,=22065 A, C=8,AD, =2.8062
A,C=9,A,D, = 34536 A, C=10,A,D,, =4,1421

Almost when it increases 1shake | it increases for 4wari 1bu,
How to purchase AD is
OA-0C
At this point OA is desired from the bottom .
0Az2=0C?+ CA2
Because OC = 1shaku | AD = QA — shaku,
A person in charge : Ichimura
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~Summary / Future Problem / Impression~
FéEH ~Summary~
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Called extends gradient length of AD in Figure 1, determined Mel using a solution
marked to extend slope in the “Mitate Sanpou Kiku Buntousyu” when extended the
AC 15“", There are used the three square theorem.

5% DERE ~Future Problem~
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We could solve this problem by our efforts, but we have suffered from
modern translation and English translation. So we felt that we have to
raise our vocabulary and study grammar more. We also felt that we have
to try to solve the problems of other groups.

%48 ~Impression~
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This time, usually to be able to valuable experience in that study the old
mathematics is no opportunity to examine, what is obtained is large, it now
has been very substantial activities . Examine old people without much
different from those old days of mathematics also now as go was very
surprised to see that I was wearing a knowledge of the high, such as
reading to the now.
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~The Original~

wzas | iRl cacEsn1 o0

8330 bz ,733333333308752

2873 ButpERoEenagseaNiAgy

g)"\,ag W snt2 222205 ﬁiﬂ&gJ}%Wia Gradient

3 fﬁ%ﬁ Brixe22:72 12852775 18 up

el e %L .3%{2—@2%%?%*5‘&@*? v
AL Bl o = ES 2% A =

7§"¥§E 5wl h ey el P Elymf] T Seread

Rt | NERATRS Ta g e Rva s o 3 f

moop| M2k 0 e A AR 7 o

Surd| leRiok ey RR LAY

tars| Bapn™ B 4 kom

%_,/]“\ e S B "%Ef‘-rgfq;z

&;J‘ kR zﬁ""\‘f s

By sl [Fasr % ; >E Lol

(i'*"gﬁ boiies 2 tgiﬁ

SR Ee T i £ R~

IRHNEBER  ~Living Language Reason~
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If you look at the slope for example base and height is 30%e" ,and you
know it's time of 40%e" when you arranged a 35" and 4s"" paper ,who
can hypotenuse is large you were 55" be seen as 50%" . Or,beside 5% of
string between the length dozen you found to 11%en2b" because 1shaku
and hypotenuse of 5% of paper is 1shakusun2bu No matter what was
noted in the left and also to expand the view of the same allocation
there. The same as 1bu 100%" which the theory is also the same scale in
place of 1k can be replaced with 1sh2ku, Give the right yearn, when we
extend the allocation to 10shaku, [ keep attached to when both increases.
The most likely maybe rindome. Also, to know the chord between
length 100k beside 50ke" extends 50ke" to 100ke" the 11%en8bY, You can
doubled even on the same principle fix the unit of Machi, or added, is
used squares. [ know the right of allocation. When the gradient is 5*" in
calculus, together with the square and 5" of the square of 1shaku (The
algorithm will seek a few display positive number square root.) Is
1shakujkenbugrin T reduce the internal source of 1shkt of the three
thread, to know the rest and extend. This says, in order to know the
allocation any numberke" gradient to the same reason. Having a large
number are countless, can be calculated if the paper type.

A person in charge : lioka, Ishikawa

~English Translation~
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